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1. Given that sina = —S, a € QIll,andtanb = % b € Ql, find sin(a + b).
5in(a-l-b) = S‘ma cosb+cosasinb
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2. Slmphfy and express as a single trigonon nction —.
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1. Use the half-a gldttyteltt—e ctly. 2 Coﬁ.
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2. Find the exact va 0s212°c f +sin212°s 5
Co.s& cos +Sin& 80\ = (05<0"

=cos (212 —IZ‘Z)- cos%...@

3. Find sin 26, cos 26, and tan 26 given that cos 6 = % and @ is in Quadrant IV.

(K Ane quadeand inuhich 28 Lies - \Z
5in26 = 2 sinBcos &
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4. Givensina = E , aisin Quadrantll, cos f = —§, and B is in Quadrant lll, find sin(a + /3’)

sm@&f = Sineld 1'(450(5/0
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5. Find tan™! (— i) exactly in radians.
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6. Evaluate cos(csc-1=) =
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7. Find all solutions (in radians) in the interval 0 < x < 2m. sin?x — 2= 0

Sin2x=4—-': = SiNX =i‘|_L
sinx =+ 1
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8. Find all solutions (in radians) in the interval 0 < x < 2w. 2sin®x = sinx
2 sinx-sinX =0
SINX (25)'nzx -D = O
SinX=0) SNk = é
X=0,TT SINK =4t
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9. Prove the identity.

1+ cos?x

sin? x

10. Prove the identity. cscx — cosx cotx = sinx
LHS = __'_ _ CosX- (0$>£
S1MX SINX
= | —.<osz)<
SN X
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Bonus (10 points): Find all solutions (in radians) in the interval 0 < x < 2m.

sin3x +sinx —sinZ2x =0
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